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.sort_index () iAEIEEM LIRIEZ - [ #H1THIF |, BUATTF

.sort_index(

In [362]: b.sort_index()
Out[362]:

, e 1 2 3 4
In [359]: import numpy as np als 6 7 8 9

b 15 16 17 18 19
In [36@]: b = pd.DataFrame(np.arange(20).reshape(4,5), index=['c','a"','d",'b"]) c e 1 2 3 a

d 1@ 11 12 13 14

In [358]: import pandas as pd

In [361]: b

Out[361]: In [363]: b.sort_index(ascending=False)
%) 1 2 3 4 Out[363]:

c © 1 2 3 4 e 1 2 3 4

a g 6 7 e} g 1 11 12 13 14

d 16 11 12 13 14 e 1 2 3 4

15 16 17 18 19
b 15 16 17 18 19 c 6 7 8 9



曾煜
默认在axis=0轴上进行排序！

曾煜
Highlight

曾煜
Highlight


Pandas/FERIEGEARER

.sort_index(

In [358]: import pandas as pd

In [359]: import numpy as np In [366]: ¢ = b.sort_index(axis=1, ascending=False)
In [367]: c
Out[367]:
4 3 2 1 0
In [361]: b c 4 3 2 1 o
Out[361]: a 9 8 7 6 5
4] 1 2 d 14 13 12 11 10
2 1 2 b 19 18 17 16 15

C
a 5 6 7

d 10 11 12 In [368]: ¢ = c.sort_index()
b

15 16 17

In [36@]: b = pd.DataFrame(np.arange(20).reshape(4,5), index=['c','a','d",'b'])

In [369]: c
Out[369]:

4 3 2 1 @
a 9 8 7 6 5
b 19 18 17 16 15
c 4 3 2 1 0
d 14 13 12 11 10




Pandas/FERIEGEARER

.sort_values () mAEIEEH LRIEVEHITHER | BOATT

Series.sort _values(

DataFrame.sort values(

: axisi ERIRANRSIEERSIFIR
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.sort_values(

In [358]: import pandas as pd

In [359]: import numpy as n
[ ] P Py P In [386]: ¢ = b.sort values(2, ascending=False)

In [360]: b = pd.DataFrame(np.arange(20).reshape(4,5), index=['c','a','d’,'b']) In [387]: c
Out[387]:
In [361]: b o 1, 2| 3 4
Out[361]: b 15 16 |17 |18 19
4] 1 2 3 4 d 10 11 (12 |13 14
%] 1 2 3 4 a 5 6,7 8 9
c

5 6 7 8 9 e 1, 2 3 4

C
a
d 18 11 12 13 14
b 15 16 17 18 19 In [388]: c = c.sort values('a', axis=1, ascending=False)

In [389]: c
Out[389]:

4 3 2 1 ©
b 19 18 17 16 15
d 14 13 12 11 19
a 9 8 7 6 5
c 4 3 2 1 ©
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In [395]: import pandas as pd

In [396]: import numpy as np

In [397]: a = pd.DataFrame(np.arange(12).reshape(3,4), index=['a", 'b', 'c'])
In [398]: a

Out[398]:

0 1 In [4@3]: c.sort values(2, ascending

0
19.0

3 4

2
2
6
o
25.8 NaN

1

5.0 11.8 NaN

In [4@@]: b NaN NaN NaN

2
b .0
In [399]: b . C 8.0 .0 114.8 NaN
a .0
d

In [4@4]: c.sort values(2, ascending
OQut[4e4]:
2 3 4
5.0 .0 |11.0 NaN
8.0 .0 |14.09 NaN
In [402]: c 19.0 .0 |25.0 NaN

0utmasy NaN NaN NaN
5.0 7.
19.0 21.
8.0 10.
NaN

In [4@1]: c
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& FSeriesfDataFrameZEHY
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.sum()

ITREEUENEH | ReitHs , TE

.count()

ENaNERVELE

.mean() .median()

SRS AT, HARE

.var() .std()

HREELE. INEE

.min() .max()
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EFFSeriesFEHY

ik 1588
.argmin() .argmax() |itEEUERAE. &IMEFMEMENZERSIVE ( BaiES])
dxmin() .idxmax() |IFEHEEKNE. IMEFREMERNERS| (BENXES])
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In [425]: import pandas as pd

In [426]: a = pd.Series([9, &, 7, 6], index=['a','b","'c","'d"])

In [427]: a

Out[427]:

a 9

b 8

c 7
6

d

dtype: int64 In [431]: type(a.describe())

Out[431]:| pandas.core.series.Series
In [428]: a.describe() ] . .
Out[428]: In [432]: a.describe()[ ' count']

count 4.000000 Out[432]: 4.0

mean 7.500000 .
std 1.290994 In [433]: a.describe()[ 'max']

min 6.000000 Out[433]: 9.0
25% 6.750000

LO% 7.500000

75% 8.250000

max 9.000000

dtype: floaté64




EANRGELT TS

In [443]: type(b.describe())
Out[443]:| pandas.core.frame.DataFrame

In [434]: import pandas as pd

In [435]: import numpy as np

In [444]: b.describe().ix[ 'max’]
Out[444]: loc ix1
In [437]: b.describe() 0 15.0 -
Out[437]: 16.0

In [436]: b = pd.DataFrame(np.arange(20).reshape(4,5), index=[‘'c’,'a","'d",'b"])

count
mean
std
min
25%
5%
75%
max

0
4.000000
7.500000
6.454972
0.0200000
3.750000
7.500000

11.250000
15.000000

1
4.000000
8.500000
6.454972
1.000000
4.750000
8.500000

12.256000
16.000000

2
4.000000
9.500000
6.454972
2.000000
5.750000
9.500000

13.250000
17.000000

3
4.000000
10.500000
6.454972
3.000000
6.750000
18.500000
14.250000
18.000000

4
4.000000
11.560008
6.454972
4,000008
7.750000
11.566000
15.250000
19.000000

17.9
18.0
19.0

Name: max, dtype: floate4d

In [445]: b.describe()[2]

Out[445]:
count
mean

std

min

25%

50%

75%

max

Name: 2, dtype: float64

4.000000
9.500000
6.454972
2.000000
5.750000
9.500000
13.250000
17.000000
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.cumprod()
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曾煜
默认还是axis=0轴方向！
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In [448]: import pandas as pd
In [449]: import numpy as np
In [45@]: b = pd.DataFrame(np.arange(20).reshape(4,5), index=['c','a’,'d",'b'])

In [451]: b
Out[451]:
e 1 2 3 4
(4] 1 2 3 4
5 6 7 8 9
19 11 12 13 14
15 1e 17 18 19

In [452]: b.cumsum() In [453]: b.cumprod() In [454]: b.cummin() In [455]: b.cummax()
Out[452]: Out[453]: OQut[454]:

%) 1 2 3 4 % 2 6 1 3 4
c @ 1 2 3 4 2 3 4
a 5 7 9 11 13 14 g 9
d 15 18 21 24 27 66 168 13 14
b 30 34 38 42 46 1056 2856 18 19

%
%
%
%
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1ife

.rolling(w7f§a%()

HORITEEBW N TTERRYA]

.rolling(w).mean()

HORITERPBw N TTERNEARFIIE

.rolling(w).var()

ORI BEEPW N TRN A E

.rolling(w).std()

HFORIT BB TTRAVREES

.rolling(w).min() .max()

HORIT BB TTERNSR/IMENRKE
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[448]: import pandas as pd

[449]: import numpy as np

[45@]: b = pd.DataFrame(np.arange(20).reshape(4,5), index=['c',"'a’','d"','b"'])

[451]: b

Out[451]:

C
a
d
b

e 1 2 3
e 1 2 3
5 6 7| 8
10 11 12 {13
15 16 17 18

In [465]: b.rolling(2).sum()
Out[465]:
3 4
NaN NaN NaN
. 11.6 13.0
15. 21.6 23.0
25. 31.0 33.0
In [466]: b.rolling(3).sum()
Out[466]:
%) 1 2 3
NaN
NaN

C
d
d 15.0
b 30.0
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In [484]: import pandas as pd

In [485]: hprice = pd.Series([3.04, 22.93, 12.75, 22.6, 12.33], index=['2008',
'2009°, '2010', '2011', '2012'])

In [486]: m2 - pd.Series([8.18, 18.38, 9.13, 7.82, 6.69], index-['2008', "2009°,
'2010, '2011', '2012'])

In [487]: hprice.corr(m2)

Out[487]: ©.5239439145220387 8
5.0

25 1
2008.0 2008.5 2009.0 2009.5 EUIID.{I 20105 2011.0 2011.5 20120
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sort index() .sort values()
.describe()
cum*()  .rolling().*()

.corr() .cov()




